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Section I - Name the f?NB wnys to prove that parallel lines exist.
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Section IT - Identify the pairs of angles. If the angles have no relationship, write none.
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Section III - Fill In
Vertical angles are

i@

; NI
. If two parallel lines are cut by a transversal, then corresponding angles are
If two parallel lines are cut by a transversal, then alternate interior angles are =
If two parallel lines are cut by a transversal, then glternate exterior angles are L—J
If two parallel lines are cut by a transversal, then same side interior angles are 1%
If two parallel lines are cut by a transversal, then same side exterior angles are 1€ Q

Mm]ﬁ"the.ﬁ_wq:,{ﬂg_p,r:ova.lines_am parallel.
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Section IV - Determine which lines, if any, are parallel based on the

1)ms1 = ms9 e /] ol
2)msl = med NoN e
3)mz12 + mZ14 = 180 o/l b
4)msl = ms13 e,
¢/ ol

5)mz7 = mZ14

6.) mz13 = mz11

7) mz15 + m16 = 180 none<
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Section IV - Determine which lines, if any, are parallel based on the given information.
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1. msl =mz4

2. ms6 =ms8

FY By

3. #1 and £11 are supplementary
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6. 26 and £7 are supplementary __ £ H#E
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7. mz14 = m«15 K //rﬂ alc 53’-17-4—-13—

8. ~7 and £8 are supplementary NoNE&
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9. m«5 = m«£10
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10. mz1=mZ13
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Section VI - Solve each Algebra Connection Problem.

1 2.
/W G B l/t

msZl=x"-@x. 4 /5
" mLl=-x+15 6 /7
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Solve the system. i |, Solve the system.

Are the lines parallel, perpendlculgréogobllque? hre the lines’parallel, perpendicular or oblique?
| et

e — =1%P Jy =2+
y=3x-1 e ?(2)( Sy = 4\‘ —E % 3
2x=-y=-3 . -6x + 15y = 12 %r:-g J-L-g
v - ?N+1"'3 oy -Gy = 14
e ety g
e 0=
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Section VIl. Connections to Algebra

1)  Write an equation of a line that goes through the point (-2, 7) and is paralleltox—2y=6.

- g =
T=Z(2)+b e " o
il Y — '-z-'f"-?\\

2) Write an equation of a line that is perpendicularto y=5x- 4 i

S - ik

V= Ly -7 S
S

3) Solve the following system and state the types of lines (parallel, @Jr oblique) Othat

aregiven.y+2x=1andy-Yx=4.

L
p=aorl ym BN gy

Section VIll.  Using the Laws of Logic
1) If xis divisible by 4, then it is divisible by 2.
coverse L¥ X iS divisible by 2, then X iS div by?ﬂ T @
iiiarse. TE % 18 not div by 2, then v i€ not div bY'J'ZL @ F
@ Contrapositive T s not v ‘I'J;' 4 ) Hen it 1§ not = b-?, 2 " ®
Hypotheses: __ X 1S div by ' x :
Conclusion: it i civ b\.}l 9’)

2) State whether you are using the law of syllogism or the law of detachment.
If you follow the snack rules in 4*" period, then you have the priviledge of having a snack.

Caroline follows the rules. .
Conclusion: Cﬂrbu_ﬂ.ﬁ_.. Can ht’l e g Nac [‘;_J

Justification:
lawof_(Cle tachment

3) If the Eagles beat the Giants, then 3™ period will not stop talking about the game. If 3 period
doesn’t stop talking about the game, then they will miss the review for the test.

Conclusion: L+ eages hea L ita &, +Hen 34 Pfr’?&rif Lo L
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